CHAPTER 18: THE MARKETING MIX

VOCABULARY

1) The marketing mix= the marketing mix framework consisting of four variables: product, price, place and promotion, which an organisation combines in order to ensure that objectives are achieved; the four Ps of marketing or simply the four Ps. (marketing mix,mix marketing)
2) The marketplace= the world of business and commerce (le marché)
3) product= good or service and organisation offers or performs in order to satisfy customer needs (produit)
4) price= value placed on or amount of money paid for service or good but also the pricing policies of the organisation and their links to costs and competition. (prix) 
5)  place= the distribution channels used, outlet locations, methods of transportation  (lieu, endroit, site, emplacement, espace)
6) promotion= strategy of communication used to make the product or service known to consumers, viz., advertising, public relations, personal selling
7) blended= combined, mixed (combiné, mélangé, mêlé)
8) time-scale= the span of time within which certain events occur or are scheduled to occur considered in relation to any broader period of time (échelle de temps)
 9) strategic elements= long-term decisions and plans made by directors setting the course the organisation must follow (éléments stratégiques)
10) tactical elements= flexible and medium-term actions taken by managers to implement a company strategies (éléments tactiques)
11) business environment= the influence of the wider economic situation, the customers, suppliers and the competitors have on the performance of your organisation  (environnement commercial)
12) pricing= method adopted by a firm to set its selling price. It usually depends on the firm's average costs and on the customer's perceived value of the product in comparison to his or her perceived value of the competing products. Different pricing methods place varying degree of emphasis on selection, estimation, and evaluation of costs, comparative analysis, and market situation. (tarification)
13) a marketing plan= intended course of marketing action (plan marketing, stratégie marketing, plan commercial, stratégie commerciale)
14) operational elements= short term or immediate actions taken by managers and supervisors for smooth running of the day-to-day matters (éléments opérationnels)
15) advertising copy= material used for making a product or service known to consumers (publicité, matériel publicitaire) 
COMPREHENSION

Exercise 1: Circle the alternative a) ,b) or c) that most fully and correctly completes each statement or answers the questions below
1) Costs regarding advertising and the recruitment of sales people have to be included in the decisions on a) price   b) product   c) promotion.
2) The product your company offers is slowly getting out of date because of technological change. The decision to find a replacement for it is a) strategic   b) tactical    c)operational 
3) Choices regarding brand names, warranties , packaging and services have to be considered while making decisions on  a) promotion   b) product   c) place 
4) Which element of the marketing mix represents the profit to be made on the marketing campaign? a) product     b) promotion   c) price 
5) Your company wants to reach wider audiences in developing countries. This objective has to be included in the budget for a) place   b) promotion    c)product
6) In a supermarket the decision to offer a free bottle of wine to customers buying a crate is a) strategic b) tactical     c)operational 
7) Which component of the marketing mix deals with the objective of making sure the products and services are available in proper quantities and qualities at the right time?

a) place    b)price    c)product
8) The four elements of the marketing mix should be blended means that they should be considered a) separately    b) as a package   c)one by one 
9) Visionary marketing objectives are goals your company intends to achieve
 a) in the near future     b) in the short term     c)in the long run 
10) Your company wants its brands to be leaders on the market in the next five years. What type of marketing objective is it?    a) short-term    b) medium-term    c)long-term 

VOCABULARY

Exercise 2: Use the mist of definitions above to select the appropriate term to fit each sentence

1) Finding good intermediaries such as wholesalers and sales agents was a decision to be considered in the place element of the marketing mix. 
2) Like assets, elements of promotion can be tangible such as posters and leaflets or intangible such as the courtesy of staff or good customer care. 
3) A strategic element of the marketing mix could be creating an image or even an aura around the product or brand. 
4) Critics argue that the marketing mix should additionally include process, people and physical evidence to account for services. 
5) Packaging increases the appeal of a project. 
6) Operational elements of the marketing mix include decisions store managers make in order to improve sales.
7) Recent developments in air transports have compelled many airlines to modify their marketing plans 

8) Because of stiff competition among producers, price seems to be an important element in the customers' choice.
9) Gathering information on competitors' prices would be a practical element of the marketing mix.
10) The performance of an organisation is somewhat dependent on the business environment. 

Exercise 3A: Underline all the modals used in the text The marketing mix and discuss their usage.

can (x2), must (x6), will (x4), might (x4)

The use of might, can and must seems to be standard epistemic usage of possibility/capability and necessity/obligation. The use of will however is interesting in that it does not necessarily indicate teh future but rather a habitual fact or action.

Exercise 3B: Paraphrase the following sentences from the text and convey the same meaning without using a modal

1) Any organisation can choose an appropriate mix for each segment.= Any organisation is able to choose an appropriate mix for each segment. 
2) To meet customer needs an organisation must develop products to satisfy them.= To meet customer needs an organisation has to develop products to satisfy them.= To meet customer needs an organisation is obliged to develop products to satisfy them.= To meet customer needs, it is necessary  for an organisation to develop products to satisfy them.

3) The marketing mix must have a time-scale.= The marketing mix has to  have a time-scale. = The marketing mix is required to  have a time-scale.= It is necessary for the marketing mix to have a time-scale.

4) External events might affect pricing strategies, product modifications or amendments to marketing plans.= It is possible that external events affect pricing strategies, product modifications or amendments to marketing plans.
5) Some objectives will be set to be attained in the near future.= Some objectives are set to be attained in the near future.= Some objectives are normally set to be attained in the near future.
 Exercise 3C: Rewrite the following sentences using the correct modal construction from the list below: can, could well, may, must, will not, will probably, will no doubt, should, should have, would

1) Each ingredient of the marketing mix is not sufficient on its own, but blended together it is possible to produce something very special. = Each ingredient of the marketing mix is not sufficient on its own, but blended together, something very special can be produced.

2) It is necessary for Chrysler to find $8.8 billion to set up a healthcare trust for its present and former employees. = Chrysler must find $8.8 billion to set up a healthcare trust for its present and former employees. 
 
3) It is possible that HD DVD lives on as a data storage technology for computers.= HD DVD may live on as a data storage technology for computers.

4) Factories are short of workers, so costs seem likely to rise further. = Factories are short of workers, so costs will probably rise further. 

5) The company said it was going to replace Mr smith with Mr Schultz as chairman.= The company said it would replace Mr smith with Mr Schultz as chairman.


6) There is a strong possibility that the next year determines whether Ford survives in its current form at all. =  The next year could well determine whether Ford survives in its current form at all. 

7)It is a pity that major music companies did not anticipate the downloading of music on the internet years ago. = Major music companies should have anticipated the downloading of music on the internet years ago.  

8) There is buzz around the new Dodge Challenger, but it is difficult to see how the tyre-burning coupé is going to generate enough sales on its own. = There is buzz around the new Dodge Challenger, but  the tyre-burning coupé will not generate enough sales on its own.


9) Internet service providers have made music labels look irrelevant and are surely going to prompt other artists to think about leaving them too.=  Internet service providers have made music labels look irrelevant and will no doubt prompt other artists to think about leaving them too.  

10) Businessmen and women are advised to be aware that China has changed. = Businessmen and women should be aware that China has changed.


ASSIGNMENT
Exercise 4: Case study: Visit the website of a company you have heard about. Report to the class orally on the information you discover concerning the company's marketing mix. Your account should address the following questions: 
1) What product/products does the company make or what service/ services does it provide?
2) What image does each product or service project? 
3) What image does the company itself project? 
4) How does the price of the product or service compare in the market? Is it the same everywhere or does it vary from one area to another? Give details if possible. 
5) Does the company offer discounts in some transactions? 
6) How and where is each product or service advertised? 
7) What distribution channels are being used for the product/products? 
8) Where are the points of sale? 
9) Are they easily accessible to customers? 
10) What is your own opinion about the marketing mix of the company? 

FROM THE NEWS: Product architecture
Vocabulary:

1) a bundle= a bunch, group (paquet)
2) broadband= high-speed access to the Internet ( haut débit)
3) all-in-one= combined, comprehensive (tout-en-un)
4) incremental= increasing little by little (par étapes, pas à pas)
5) to outweigh= be more important than (l'emporter sur, avoir plus d'importance ou d'influence sur)

6) eager= avid, keen, desirous (passionné, avide, impatient)
7) aggregate= combined, total (total)
8) offsetting= compensating (qui compense)
9) cannibalization= recycling (recyclage)
The music industry: a case study
Read the article below and discuss or write answers to the following questions: 

1) What options did music publishers have to consider concerning the distribution of their songs in the mid-2000s? 
In the mid-2000s, music publishers faced serious business issues about whether to make their songs available online as well as through physical media such as CDs, and also whether to make songs available online individually, in bundles or both.


2) What has been the downside of the internet for the music industry? 
There is increased piracy through illegal downloads so the benefits are fewer.
3) How has the music industry cannibalised its products (recycled parts of)?
Instead of selling songs on CDs, audio tapes or vinyl records, music publishers sell songs digitally on the Internet.

 
4) Why have music publishers been attracted to digital downloading? 
The Internet made it cheaper to distribute music and in particular, to distribute individual songs. 
They hoped that more legal downloads of individual songs would reduce the demand for illegal ones.


5) Should music publishers reconsider their marketing mix? Give details  
Personal opinion
